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5m40cm — 3m
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KX (m,cm)4

(GtEMA)

DINFHREELILLD, TR )
2(Irr)1 + 12m8bcm = 14m85cm (5|r|r340cm — 3m = 2m40cm
Z(ir)ﬂOcm + 10cm = 2m8&0cm (5|r2r3 + 5m"70cm = 10Om70cm
q(?r)lSOcm — 20cm = 9m30cm 2?7)cm + 4ml4cm = 4m383cm
5542)cm + 10m|8cm = 0m50cm (Ilé))mQScm + 6m = |6mY938cm
I(2m6'7cm —bm = 9m67cm 9r5n)6'7cm + 29cm = 7mY96cm
3((;31 + bm46cm = 8m46cm (Ilg)m'75cm —3m = 7m75cm
I(Z))m'70cm — 30cm = 10m40cm (II';)mLLOcm —bm = |2m40cm
2(80)cm +5mlI0Ocm = 5m30cm E:'Jlfn)24<:m + 3m = 8m24cm
li(:r)130cm — 20cm = 4ml0cm (IIZ)m63cm — 20cm= | 6m43cm
(Il(g)mQOcm —bm = 5mY90cm (IZ%)mS lcm + 34cm= | 3m85cm
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